MATHS

BOOKS - RD SHARMA MATHS
(ENGLISH)

NUMBER SYSTEM

1. Represent /6, V7, +/8 on the number line.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5exa7azGx8eh

2.Represent /3.5, V9.4, +4/10. 5 on the real

number line.

o Watch Video Solution

3. Find the decimal expansions of 10/3, 7/8 and

1/7.

o Watch Video Solution



https://dl.doubtnut.com/l/_5exa7azGx8eh
https://dl.doubtnut.com/l/_GIZ1q73xtban
https://dl.doubtnut.com/l/_BeAmFVqKZYix

4. What can the maximum number of digits be
in the repeating block of digits in the decimal
expansion of 1/7 ? Perform the division of

check your answer.

o Watch Video Solution

5. Write the following in decimal form and say
what kind of decimal expansion each has : (i)

36/100 (ii)1/11 (iii) 3/11 (iv) 2/11 (v) 329/400

o Watch Video Solution



https://dl.doubtnut.com/l/_H9hIcjoxYRP9
https://dl.doubtnut.com/l/_uPvGkxR5nwvy

— 16
45

6. Find the decimal representation of

o Watch Video Solution

7. Express each of the following decimals in
the form %: (i) 02 (ii) 02 (iii) 03 (iv) 0.4 (v) 0.5

(vi) 0.6

o Watch Video Solution



https://dl.doubtnut.com/l/_uPvGkxR5nwvy
https://dl.doubtnut.com/l/_GdkNx8qd3A1R
https://dl.doubtnut.com/l/_DSxcKMy1aYRS

8. Express each of the following decimals in

the form % . (i) 0. 35 (ii) 0. 585

° Watch Video Solution

22
9. Find the decimal representation of -

° Watch Video Solution

10. Express each of the following decimal

numbers in the form £: 15.75 (ii) 8.0025 (iii)
q


https://dl.doubtnut.com/l/_XciZeVaR0gRU
https://dl.doubtnut.com/l/_VnBtVyS3Pdc8
https://dl.doubtnut.com/l/_27xldMWoOYHx

-25.6875

o Watch Video Solution

11. Visualise 2. 665 on the number line, using

successive magnification.

° Watch Video Solution

12. Visualize the representation of 5. 37 on the
number line upto 5 decimal places, that is, up

to 5.37777.


https://dl.doubtnut.com/l/_27xldMWoOYHx
https://dl.doubtnut.com/l/_42MmFX59aEQs
https://dl.doubtnut.com/l/_YXJo2RyngDp5

° Watch Video Solution

13. Show that 1.272727 = 1.27 can be

expressed in the form B, where p and q are
q

integers and q # 0.

° Watch Video Solution

14. Express 0. 99999 in the form B, where p
q

and q are integers and q # 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_YXJo2RyngDp5
https://dl.doubtnut.com/l/_2aMlCZAGjb4e
https://dl.doubtnut.com/l/_smqbuUFZTWrb

15. Find three different irrational numbers

5) 9
between the rational numbers = and 1T

° Watch Video Solution

16. Find two irrational numbers between

2 and 2. 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_smqbuUFZTWrb
https://dl.doubtnut.com/l/_D4UXdkThOslL
https://dl.doubtnut.com/l/_flvlYO6nisuz

17. Express 3 in the decimal form by long

division method.

o Watch Video Solution

18. Find five rational numbers between

3
2 and 2.
5"

o Watch Video Solution

2157

19. Express in the decimal form.



https://dl.doubtnut.com/l/_mYwjrlFZknCQ
https://dl.doubtnut.com/l/_gDpfxJWlXtlX
https://dl.doubtnut.com/l/_GOMWxy0Kp7JK

o Watch Video Solution

20. Convert ?—2 into decimal form by long

division method.

° Watch Video Solution

21. Find the rational number between

2
— —andl-
3 4

o Watch Video Solution



https://dl.doubtnut.com/l/_GOMWxy0Kp7JK
https://dl.doubtnut.com/l/_pp4KNM0WZgJI
https://dl.doubtnut.com/l/_ftyfVt08E9jc
https://dl.doubtnut.com/l/_CHy1eoCQi2zc

22. Insert 10 rational numbers between

o Watch Video Solution

23. Find 10 rational numbers between TS
8

and 10 by mean method.

o Watch Video Solution



https://dl.doubtnut.com/l/_CHy1eoCQi2zc
https://dl.doubtnut.com/l/_JrNwXYNgK40F

24. Express each of the following mixed
recurring decimals in the form % (i) 4. 32 (ii)

15. 712

o Watch Video Solution

1
25. If = = 0. 142857 , write the decimal

2 3 4 5 6 ,
—, —, —, —and— without
TTT T 7

actually doing the long division.

expression of

o Watch Video Solution



https://dl.doubtnut.com/l/_29xQstDNm96u
https://dl.doubtnut.com/l/_MGsS620Ru86D
https://dl.doubtnut.com/l/_nufCBTLatdUK

26. Convert the following decimal number in

the form 2. 5. 2 (ii) 23. 43
q

o Watch Video Solution

27. Express 0. 001 as a fraction in the simplest

form.

° Watch Video Solution

28.Find the decimal representation of 3

| N I


https://dl.doubtnut.com/l/_nufCBTLatdUK
https://dl.doubtnut.com/l/_XlkPCBDOYAoW
https://dl.doubtnut.com/l/_3yzAAdkZbNbB

| ¥ Watch Video Solution |

1
29. Express —?7 in decimal form by long

division method.

o Watch Video Solution

30. Prove that 4/n is not a rational number. if

n is not a perfect square.

o Watch Video Solution



https://dl.doubtnut.com/l/_3yzAAdkZbNbB
https://dl.doubtnut.com/l/_4Ci4ZETrFFEB
https://dl.doubtnut.com/l/_ScfYBeXhzCLa
https://dl.doubtnut.com/l/_IpCSOwgJVl5T

31. Show that 0. 2353535... = 0. 235can be

expressed in the form %, where p and q are

integers and q # 0.

° Watch Video Solution

5 _
32. Represent gandT one the number line

° Watch Video Solution

5 _
33. Represent gand —— on the number line

l ° Watch Video Solution


https://dl.doubtnut.com/l/_IpCSOwgJVl5T
https://dl.doubtnut.com/l/_IHlcSL8yhpAP
https://dl.doubtnut.com/l/_3VuXQg0TCskv

34. Find a rational number between 2 and 6.

o Watch Video Solution

35. Find a rational number between

2 1

— g andz

o Watch Video Solution



https://dl.doubtnut.com/l/_3VuXQg0TCskv
https://dl.doubtnut.com/l/_r53CDarlbjIU
https://dl.doubtnut.com/l/_Fqo95ftR8Qf4

36. Find three rational numbers between

—2and b

o Watch Video Solution

3

37. Insert 10 rational numbers between — T
q 13
an 11

o Watch Video Solution



https://dl.doubtnut.com/l/_2KWvn9cZ5c4W
https://dl.doubtnut.com/l/_pg2tr33Cjo6N

38. Insert 10 rational numbers between

-3 9
1—3 and1—3

o Watch Video Solution

39.Is zero a rational number? Can you write it

in the form 2, where pand q are integers
q

and g # 07

o Watch Video Solution



https://dl.doubtnut.com/l/_3qiwWwC5KyFV
https://dl.doubtnut.com/l/_YwBfTXYRvRZ3

40. Find five rational numbers between 1 and 2

o Watch Video Solution

41. Find six rational numbers between 3 and 4

o Watch Video Solution

42. Find four rational humbers between 3/5

and 4/5.

o Watch Video Solution



https://dl.doubtnut.com/l/_qECAfFH1Kl9T
https://dl.doubtnut.com/l/_4H5mF4L03ltG
https://dl.doubtnut.com/l/_0LHQX7ok9yzV

43, Are the following statements true or false?
Give reasons for your answer? Every whole
number is a natural number Every integer is a
rational number. Every rational number is an
integer. Every natural number is a whole
number. Every integer is a whole number Every

rational number is a whole number

o Watch Video Solution



https://dl.doubtnut.com/l/_0LHQX7ok9yzV
https://dl.doubtnut.com/l/_PKkRjrQJ4ZH9

44. Express g in the decimal form by long

division method.

o Watch Video Solution

3
45. Convert 16 into decimal form by long

division method.

o Watch Video Solution

2157 in the decimal form.

46. Express



https://dl.doubtnut.com/l/_O8yhX705Bn8L
https://dl.doubtnut.com/l/_GhSWAAuRdc0P
https://dl.doubtnut.com/l/_dKH52wogtbKG

o Watch Video Solution

—17

47. Express in decimal form by long

division method.

o Watch Video Solution

48. Find the decimal representation of g

o Watch Video Solution



https://dl.doubtnut.com/l/_dKH52wogtbKG
https://dl.doubtnut.com/l/_QPZPB9slWoKB
https://dl.doubtnut.com/l/_a2csXHz5RMh9

49, Express 17 @@ decimal fraction.

o Watch Video Solution

— 16

50. Find the decimal representation of 15

o Watch Video Solution

1

51. Find the decimal expansion of -

o Watch Video Solution



https://dl.doubtnut.com/l/_X2JW99Vz7A0I
https://dl.doubtnut.com/l/_PnMW2SKJgJxF
https://dl.doubtnut.com/l/_ADp2MWPvmC3a

52. What can the maximum number of digits
be in the repeating block of digits in the
decimal expansion of 7 ? Perform the

division to check your answer.

° Watch Video Solution

22
53. Find the decimal representation of I

° Watch Video Solution



https://dl.doubtnut.com/l/_YMJ3JeM3mmWV
https://dl.doubtnut.com/l/_wa5Gr5oOJyFP

54. Express the following rational numbers as

decimals:
42
(l)m
A
) 500
(i) 15
i e

o Watch Video Solution

55. Express the following rational numbers as

, 2
decimals: —
3

o Watch Video Solution



https://dl.doubtnut.com/l/_eowMC2UUfdRZ
https://dl.doubtnut.com/l/_W25ukMPr1Abt

56. Look at several examples of rational
numbers in the form %(q # 0), where
pand q are integers with no common factors
other than 1 and having terminating decimal
representations. Can you guess what property

q must satisfy?

o Watch Video Solution

57. Express each of the following numbers in

the form P
q


https://dl.doubtnut.com/l/_W25ukMPr1Abt
https://dl.doubtnut.com/l/_MfrEic0RtP7A
https://dl.doubtnut.com/l/_HsLSlFCVS0uu

(1)0.15
(i) 0.675

(i) 0.00026

o Watch Video Solution

58. Express each of the following numbers in

the form % (i) 15.75 (ii) 8.0025 (iii) — 25. 6875

° Watch Video Solution



https://dl.doubtnut.com/l/_HsLSlFCVS0uu
https://dl.doubtnut.com/l/_oi8cvtnLStdE

59. Express each of the following decimals in

the form %: (i) 0. 1 (ii) 0. 2 (i) 0. 3

° Watch Video Solution

60. Express each of following decimals in the

form % () 0. 4 (ii)0. 5 (iii)0. &

o Watch Video Solution



https://dl.doubtnut.com/l/_aYTXfUn4kJXV
https://dl.doubtnut.com/l/_CAVFoXEWAmn7

61. Express each of the following decimals in

the form % (i) 0. 35 (ii) 0. 585

° Watch Video Solution

62. Show that 1.272727 = 1.27 can be

expressed in the form 2, where p and q are
q

integers and q # 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_sBiZHkl54Xqd
https://dl.doubtnut.com/l/_v4l5ZLixdhhm

63. Express 0. 001 as a fraction in the simplest

form.

o Watch Video Solution

64. Convert the following decimal number in

the form P i) 5.27 (ii) 23.43
q

o Watch Video Solution



https://dl.doubtnut.com/l/_nJAWtQ8UTT9S
https://dl.doubtnut.com/l/_37b213FTSZby

1
65. If — = 0.142857 , write the decimal

7
2 3 4 5 6
expression of —, —, —, —and— without
TN T 7

actually doing the long division.

o Watch Video Solution

66. Express the following decimals in the form

%; (i) 0. 32 (ii) 0. 123 (iii) 0. 00352

° Watch Video Solution



https://dl.doubtnut.com/l/_wIAI3aK1rIAI
https://dl.doubtnut.com/l/_zZevBL3A3Nc3

67. Express each of the following mixed
recurring decimals in the form % . (i) 4. 32 (ii)

15. 712

o Watch Video Solution

68. Show that 0.2353535 = 0. 235 can be

expressed in the form %, where pand q

integers and ¢ # 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_iNqgrqVutN3e
https://dl.doubtnut.com/l/_G1c7g9IUe48o
https://dl.doubtnut.com/l/_0kgmtn83yjgl

69. Prove that /2 is not a rational number.

o Watch Video Solution

70. Prove that /3 is an a irrational number.

o Watch Video Solution

71. Prove that \/ﬁ is not a rational number. if n

is not a perfect square.

o Watch Video Solution



https://dl.doubtnut.com/l/_0kgmtn83yjgl
https://dl.doubtnut.com/l/_zqfTUFhCqpkj
https://dl.doubtnut.com/l/_aSc6jACgaWUt

72. Give examples of two irrational numbers
the product of which is: a rational

number (ii) an irrational number

° Watch Video Solution

73.The product of /2 and /3 is 1/6 , which is

an irrational number.

o Watch Video Solution



https://dl.doubtnut.com/l/_aSc6jACgaWUt
https://dl.doubtnut.com/l/_KZasHXo0mCmm
https://dl.doubtnut.com/l/_Oq75TIjcYJg1
https://dl.doubtnut.com/l/_Owyy4s69QUSK

74. Insert a rational and an irrational number

between 2 and 3.

° Watch Video Solution

75. Find two irrational number between

2and 2.5

o Watch Video Solution

76. Find two irrational numbers lying between

V2 and +/3


https://dl.doubtnut.com/l/_Owyy4s69QUSK
https://dl.doubtnut.com/l/_ul0gLL5eGP16
https://dl.doubtnut.com/l/_Ni7m9e8SEu9k

° Watch Video Solution

77. Find two irrational numbers between

0.12and 0. 13

o Watch Video Solution

78. Find two rational numbers between

0. 232332333233332.... . and

0. 252552555255552.... .

o Watch Video Solution



https://dl.doubtnut.com/l/_Ni7m9e8SEu9k
https://dl.doubtnut.com/l/_sLHdbv2ExNTM
https://dl.doubtnut.com/l/_QDZa0ZRhNAZU

79. Find the rational number and also an
irrational number between the numbers
a and b asgiven below: a=0. 101001000100001

b=0.1001000100001

° Watch Video Solution

80. Find one irrational number between the

number aandb given below:

a=20.1111 =0.1 and b= 0.1101

l ° Watch Video Solution


https://dl.doubtnut.com/l/_QDZa0ZRhNAZU
https://dl.doubtnut.com/l/_hIBCekFiKpLO
https://dl.doubtnut.com/l/_X03mpt5G1G0u

81. Find three different irrational numbers

5 9
between the rational numbers z and 10

o Watch Video Solution

82. Write three numbers whose decimal

expansions arc non-terminating non-recurring.

° Watch Video Solution



https://dl.doubtnut.com/l/_X03mpt5G1G0u
https://dl.doubtnut.com/l/_02uSDCD2L5M0
https://dl.doubtnut.com/l/_RGmeoGZlLzcC

83. prove that /3 —+/2 is an irrational

number.

° Watch Video Solution

84. Examine, whether the following numbers

are rational or irrational: (i)(ﬂ—l—2)2 (ii)

- — . O
(5 + \/5) (5 — \/5) (iii) 2—\/3

o Watch Video Solution



https://dl.doubtnut.com/l/_yUcl6Gl1eNwm
https://dl.doubtnut.com/l/_Qa32afQ1ZE21

85. Define an irrational number.

o Watch Video Solution

86. Explain, how irrational numbers differ from

rational number?

° Watch Video Solution

87. Examine, whether the following numbers

are rational or irrational:


https://dl.doubtnut.com/l/_UODVkXlFRDD5
https://dl.doubtnut.com/l/_Ijm5tnb3vbbI
https://dl.doubtnut.com/l/_xBBfTBrlWQHN

(i)/7
(ii) v/4

(iii) 2 + /3

o Watch Video Solution

88. Examine, whether the following numbers

are rational or irrational: (i) \/g—l—\/ﬁ (i)

V3 + VB i) (V2 —2)°

o Watch Video Solution



https://dl.doubtnut.com/l/_xBBfTBrlWQHN
https://dl.doubtnut.com/l/_AIWTzOD1sGZL

89. Examine, whether the following numbers
are rational or irrational:

(2 -+v2)(2++2)

(i) (V2 ++/3)°

° Watch Video Solution

90. Examine, whether the following numbers
are rational or irrational: (i) (1/5 — 2) (ii) /23

(iii) 1/255

° Watch Video Solution



https://dl.doubtnut.com/l/_bgaOdu9RaQDC
https://dl.doubtnut.com/l/_DZxdClYUCsXa

91. Examine, whether the following numbers
are rational or irrational: (i)0. 3796 (ii)

7.478478....... (442)1.101001000100001

o Watch Video Solution

92. Identify the following as rational or
irrational numbers. Give the decimal

representation of rational numbers: \/é_l (i)

34/18 (iii) /1. 44

o Watch Video Solution



https://dl.doubtnut.com/l/_DZxdClYUCsXa
https://dl.doubtnut.com/l/_kSnEaMM4Nyf2
https://dl.doubtnut.com/l/_DP7Dvtapwv9E

93. Identify the following as rational or

irrational numbers. Give the decimal

: : : 9
representation of rational numbers: (i) ,/ —

27
(i) — /64 (iii) 1/100

o Watch Video Solution

94. In the following equations, find which

variables x, y, z etc. represent rational or


https://dl.doubtnut.com/l/_DP7Dvtapwv9E
https://dl.doubtnut.com/l/_nRKNEskD8xdk
https://dl.doubtnut.com/l/_SQBSFXqBkSiz

irrational numbers: (i) 2 = 5 (ii) y2 = 9 (iii)

22 =0.04 (iv)u® = —

° Watch Video Solution

95. In the following equations, find which
variables x, y, z etc. represent rational or
irrational numbers: (i) v* = 3 (ii) w® = 27 (iii)

2 =0.4

o Watch Video Solution



https://dl.doubtnut.com/l/_SQBSFXqBkSiz
https://dl.doubtnut.com/l/_2J8nW9RUm0MZ

96. Give an example of each, of two irrational
numbers whose: (i) difference is a rational
number. (ii) difference is an irrational number.
(iii) sum is a rational number. (iv) sum is an
irrational number. (v) product is a rational
number. (vi) product is an irrational number.
(vii) quotient is a rational number. (viii)

quotient is an irrational number.

o Watch Video Solution



https://dl.doubtnut.com/l/_zSJClRoBDehk

97. Give two rational numbers lying between
0. 232332333233332.... and

0.212112111211112....

o Watch Video Solution

98. Give two rational numbers lying between

0. 515115111511115.... and 0. 5353353335....

° Watch Video Solution



https://dl.doubtnut.com/l/_PJXjN7PnIKZh
https://dl.doubtnut.com/l/_ZeqQSoSveiFE

99. Find one irrational number between

0.2101 and 0.2222

° Watch Video Solution

100. Find a rational number and also an
irrational number lying between the numbers

0. 3030030003....... and 0. 3010010001.......

° Watch Video Solution



https://dl.doubtnut.com/l/_S1khbjtbztpS
https://dl.doubtnut.com/l/_AUS3RmgQlPec

101. Find two irrational numbers between 0.5

and 0. 55

o Watch Video Solution

102. Find two irrational numbers lying

between 0. 1 and 0. 12

o Watch Video Solution



https://dl.doubtnut.com/l/_QvaeeKpd4zG4
https://dl.doubtnut.com/l/_elxm1lMt4Ybz

103. Prove that /3 + /5 is an irrational

number.

o Watch Video Solution

104. Find three different irrational numbers

: 5 9
between the rational numbers = and e

o Watch Video Solution



https://dl.doubtnut.com/l/_FnTK3i6utEEs
https://dl.doubtnut.com/l/_z8O9yyedTv37

105. Complete the following sentences: (i)
Every point on the number line corresponds to
a .. number which many be either..... or ... (ii)
The decimal form of an irrational number is
neither .. nor ... (i) The decimal
representation of a rational number is either
..... or ... (iv) Every real number is either ..

number or..... number.

o Watch Video Solution



https://dl.doubtnut.com/l/_IfgJ9zKblamY

106. If the difference between the roots of the
equation z° +ax +1 =0 is less than /5 ,
then the set of possible values of a is (1)
(—=3,3) (2 (—=3,0) (3) (3,0) (4)

(_007 _3)

o Watch Video Solution

107. Represent \/ﬁ , V9.4, 4/10.5 on the

real number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_3TiUKlDOUl7H
https://dl.doubtnut.com/l/_yvsYWZG3wYSX

108. Find whether the following statements
are true or false.

(i) Every real number is either rational or
irrational.

(ii) 7 is an irrational number.

(iii) Irrational numbers cannot be represented

by points on the number line.

o Watch Video Solution



https://dl.doubtnut.com/l/_yvsYWZG3wYSX
https://dl.doubtnut.com/l/_Dgcveg7zuMoa

109. Visualise 2. 665 on the number line, using

successive magnification.

° Watch Video Solution

110. Visualise the representation of 5.37on the

number line upto 5 decimal places.

o Watch Video Solution



https://dl.doubtnut.com/l/_7f7QzVkhX6cx
https://dl.doubtnut.com/l/_eNzFyotktdMp

111. Which one of the following is a correct
statement?

Decimal expansion of a rational number is
terminating

Decimal expansion of a rational number is
non-terminating

Decimal expansion of an rational number is
non-terminating and recurring

Decimal expansion of an rational number is

non-terminating and non-repeating

o Watch Video Solution



https://dl.doubtnut.com/l/_s6pIv1Y5VnCr

112. Which one of the following statement is
true?

(i) The sum of two irrational numbers is always
an irrational number.

(i) The sum of two irrational numbers is
always a rational number.

(iii) The sum of two irrational numbers may be
a rational number or irrational number.

(iv) The sum of two irrational numbers is

always an integer.

o Watch Video Solution



https://dl.doubtnut.com/l/_npp8lxQOdAx3

113. Which of the following is a correct
statement?

(A)Sum of two irrational numbers is always
irrational

(B) Sum of a rational and irrational number is
always an irrational number

(C)Square of an irrational number is always an
irrational number

(D) Sum of two rational numbers can never be

an integer

o Watch Video Solution



https://dl.doubtnut.com/l/_1hfvnoApVfWf

114. Which of the following statements is true?
product of two irrational numbers is always
irrational Product of a rational and an
irrational number is always irrational Sum of
two irrational numbers can never be irrational
Sum of an integer and a rational number can

never be an integer

o Watch Video Solution

115. Which of the following is irrational?


https://dl.doubtnut.com/l/_aCyCpRYlVQma
https://dl.doubtnut.com/l/_VHoaII27xJPt

A2
Vo
g &
"5

S

C.

D. /81

Answer: C

o Watch Video Solution

116. Which of the following is irrational?
(a)0. 14

(b) 0. 1416


https://dl.doubtnut.com/l/_VHoaII27xJPt
https://dl.doubtnut.com/l/_zlSJObGPNZTQ

(c)0. 1416

(d) 0. 1014001400014. .

° Watch Video Solution

117. Which of the following is rational? \/§ (b)

7 (c) 6 (d) 1

o Watch Video Solution

118. The number 0. 318564318564318564... is:

(a) natural number


https://dl.doubtnut.com/l/_zlSJObGPNZTQ
https://dl.doubtnut.com/l/_4CFzfaY4Qo69
https://dl.doubtnut.com/l/_mODh4EXQBjMf

(b) an integer

(c) rational number

(d) an irrational number

A. (a) natural number

B. (b) an integer

C. (C) rational number

D. (d) an irrational number

Answer: null

o Watch Video Solution



https://dl.doubtnut.com/l/_mODh4EXQBjMf
https://dl.doubtnut.com/l/_NlDXnnMUndGg

19. If n is a natural number, then ,/n is:

A. (a) always a natural number

B. (b) always an irrational number

C. (c) always an rational number

D.(d) sometimes a natural number and

sometimes an irrational number

Answer: null

o Watch Video Solution



https://dl.doubtnut.com/l/_NlDXnnMUndGg

120. Which of the following numbers can be
represented as non-terminating, repeating

decimals?

A 39
24
3
16
3
T 11

5 187
© 25

C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Xoha1EL7E8UL

121. Every point on a number line
represented as:

(a) a unique real umber

(b) a natural number

(c) a rational number

(d) an irrational number

o Watch Video Solution

122. An irrational number between 2 and 2. 5

is v/11 (b) /5 (c) v/22.5(d) 4/12. 5

| &


https://dl.doubtnut.com/l/_Mppp1RUIcgry
https://dl.doubtnut.com/l/_LAuhDW4PlE9p

| ¥ Watch Video Solution

123. Which of the following is irrational?

A. (a) 0. 15

B.(b) 0. 01516

C.(c) 0. 1516

D. (d) 0. 50150015000015...

Answer: null

o Watch Video Solution



https://dl.doubtnut.com/l/_LAuhDW4PlE9p
https://dl.doubtnut.com/l/_V6U6DRwF8JIZ
https://dl.doubtnut.com/l/_l2kMtYiBBLUA

124. The number of consecutive zeros in
2 x 3 x 5 x 7, is

A. 3

B.2

C.4

D.5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_l2kMtYiBBLUA
https://dl.doubtnut.com/l/_yIhjHWVa3zmJ

125. The number 1. 272727..... in the form

%, where p and q are integersand g # 0, is

14
9

14
B. (b) 11

A. (a)

14
C. () 3

14

D. (d) i

Answer: null

O Watch Video Solution



https://dl.doubtnut.com/l/_yIhjHWVa3zmJ

126. The number 0. 3 in the form 2, where
q

pand qare integersand g # 0, is

33

100

(b) ’
10
1

(c) §

q 3
()1—00

(a)

o Watch Video Solution

127. The smallest rational number by which 3

should be multiplied so that its decimal


https://dl.doubtnut.com/l/_KAjMo9ar3i3l
https://dl.doubtnut.com/l/_k30LtQzfd0TA

expansion terminate after one place of

decimal, is

A 1

3

B. (b) 0

C.(c) 3

D. (d) 30

Answer: null

o Watch Video Solution



https://dl.doubtnut.com/l/_k30LtQzfd0TA

128. 0. 32 when expressed in the form %(p, q

are integers ¢ # 0), is

8
25
0y 22

90

32
99
32

(d) 199

(a)

(c)

o Watch Video Solution

129. 23. 43 when expressed in the form %(p, q

2320 (b) 2343
99 100

are integers ¢ # 0) , is (c)


https://dl.doubtnut.com/l/_Z4s90xh20EjP
https://dl.doubtnut.com/l/_khgmYPP0iRIu

2343 (d) 2320
1999 999

o Watch Video Solution

130. The value of 0. 23 + 0. 22 is (a) 0. 45 (b)

0.43(c) 0. 47 (d) 0. 41

° Watch Video Solution



https://dl.doubtnut.com/l/_khgmYPP0iRIu
https://dl.doubtnut.com/l/_qu31IND6reWf

